

A note on a generalization of Lehman's inequality

RÓBERT OLÁH-GÁL and JÓZSEF SÁNDOR

Abstract. We extend a theorem from [2] proved for functions of two arguments, to functions of arbitrary arguments.

AMS Subject Classification: 26A51, 26B25, 26D15.

Keywords: convex functions, homogeneity, inequalities.

1 Introduction

Lehman's inequality of two variables states that (see [2])

$$H(a_1 + \cdots + a_n, b_1 + \cdots + b_n) \geq H(a_1, b_1) + \cdots + H(a_n, b_n), \quad (1)$$

where a_i, b_i ($i = \overline{1, n}$) are positive numbers, and $H(a, b) = \frac{2ab}{a+b}$ denotes the harmonic mean of the positive numbers a and b .

In paper [2], the second author proved generalizations of (1), by pointing out connections with subadditivity and convexity. Particularly, the following result appears in [2] (see Theorem 2 there).

Theorem 1 *Let $A = (0, +\infty) \times (0, +\infty)$, and $I = (0, +\infty)$. Define $F(t) = f(1, t)$ for $t \in I$. If f is k -homogenous and F is k -convex (k -concave), then*

$$f(a_1 + a_2 + \cdots + a_n, b_1 + b_2 + \cdots + b_n) \underset{(\geq)}{\leq} f(a_1, b_1) + f(a_2, b_2) + \cdots + f(a_n, b_n) \quad (2)$$

for any $(a_i, b_i) \in A$ ($i = \overline{1, n}$).

Recall that f is called k -homogeneous, if

$$f(rx, ry) = r^k f(x, y) \quad (3)$$

for any $r > 0$ and $(x, y) \in A$.

Similarly, a function $F : I \rightarrow \mathbb{R}$ is called k -convex (concave), if

$$F(\lambda a + \mu b) \leq \lambda^k F(a) + \mu^k F(b) \quad (4)$$

for any $a, b \in I$, and any $\lambda, \mu > 0$, $\lambda + \mu = 1$ (see [1], [2]).

Clearly, the definitions (3) and (4) can be extended to functions of many arguments, as it is shown in [2].

Let $f : (0, +\infty)^n \rightarrow \mathbb{R}$ be a function with n -arguments, and put $p = (x_1, x_2, \dots, x_n) \in A = (0, +\infty)^n$. Then f is k -homogeneous, if

$$f(rp) = r^k f(p) \quad (5)$$

for all $r > 0$ and $p \in A$. The function $F : (0, +\infty)^{n-1} \rightarrow \mathbb{R}$ is called k -convex, if

$$F(\lambda p + \mu p') \leq \lambda^k F(p) + \mu^k F(p'), \quad (6)$$

for any $p, p' \in (0, +\infty)^{n-1}$ and any $\lambda, \mu > 0, \lambda + \mu = 1$.

The aim of this paper is to extend Lehman's inequality (1) as follows

$$\begin{aligned} & \frac{(a_1 + a_2 + \dots + a_s) \cdot (b_1 + b_2 + \dots + b_s) \cdot \dots \cdot (z_1 + z_2 + \dots + z_s)}{(a_1 + a_2 + \dots + a_s) + (b_1 + b_2 + \dots + b_s) + \dots + (z_1 + z_2 + \dots + z_s)} \geq \\ & \geq \frac{a_1 b_1 \cdot \dots \cdot z_1}{a_1 + b_1 + \dots + z_1} + \dots + \frac{a_s b_s \cdot \dots \cdot z_s}{a_s + b_s + \dots + z_s} \end{aligned} \quad (7)$$

In fact, (7) will be a consequence of a more general result of type (2).

2 Main results

The following extension of Theorem 1 of the Introduction will be proved:

Theorem 2 Let $A = (0, +\infty)^n, I = (0, +\infty)^{n-1}$, where $n \geq 2$. Let

$$F(t_1, t_2, \dots, t_{n-1}) = f(1, t_1, t_2, \dots, t_{n-1}),$$

where $f : A \rightarrow \mathbb{R}$ is a k -homogeneous function. If F is k -convex (concave), then

$$\begin{aligned} & f(a_1 + a_2 + \dots + a_s, b_1 + b_2 + \dots + b_s, \dots, z_1 + z_2 + \dots + z_s) \stackrel{\leq}{\geq} \\ & \stackrel{\leq}{\geq} f(a_1, b_1, \dots, z_1) + \dots + f(a_s, b_s, \dots, z_s) \end{aligned} \quad (8)$$

for all $s \geq 1$, and all $(a_1, b_1, \dots, z_1) \in \mathbb{R}^n, \dots, (a_s, b_s, \dots, z_s) \in \mathbb{R}^n$.

Proof. First remark that, exactly as in the real-variable case, by induction it follows that (see [2], relation (8), for F being k -convex),

$$F(\lambda_1 p_1 + \lambda_2 p_2 + \dots + \lambda_s p_s) \leq \lambda_1^k F(p_1) + \lambda_2^k F(p_2) + \dots + \lambda_s^k F(p_s) \quad (9)$$

for any $p_i \in \mathbb{R}^{n-1}, (i = \overline{1, s}), \lambda_i > 0, \lambda_1 + \lambda_2 + \dots + \lambda_s = 1$.

When F is k -concave, (9) holds with reversed sign of inequality.

Put now in (9) the following values:

$$\begin{aligned}\lambda_1 &= \frac{a_1}{a_1 + a_2 + \cdots + a_s}, & p_1 &= \left(\frac{b_1}{a_1}, \frac{c_1}{a_1}, \dots, \frac{z_1}{a_1} \right) \in \mathbb{R}^{n-1}, \\ \lambda_2 &= \frac{a_2}{a_1 + a_2 + \cdots + a_s}, & p_2 &= \left(\frac{b_2}{a_2}, \frac{c_2}{a_2}, \dots, \frac{z_2}{a_2} \right) \in \mathbb{R}^{n-1}, \\ &\vdots \\ \lambda_s &= \frac{a_s}{a_1 + a_2 + \cdots + a_s}, & p_s &= \left(\frac{b_s}{a_s}, \frac{c_s}{a_s}, \dots, \frac{z_s}{a_s} \right) \in \mathbb{R}^{n-1}.\end{aligned}$$

Now, we can write

$$\begin{aligned}&\lambda_1 p_1 + \lambda_2 p_2 + \cdots + \lambda_s p_s = \\ &= \left(\frac{b_1}{a_1 + a_2 + \cdots + a_s}, \frac{c_1}{a_1 + a_2 + \cdots + a_s}, \dots, \frac{z_1}{a_1 + a_2 + \cdots + a_s} \right) + \cdots + \\ &+ \left(\frac{b_s}{a_1 + a_2 + \cdots + a_s}, \frac{c_s}{a_1 + a_2 + \cdots + a_s}, \dots, \frac{z_s}{a_1 + a_2 + \cdots + a_s} \right) = \\ &= \left(\frac{b_1 + b_2 + \cdots + b_s}{a_1 + a_2 + \cdots + a_s}, \frac{c_1 + c_2 + \cdots + c_s}{a_1 + a_2 + \cdots + a_s}, \dots, \frac{z_1 + z_2 + \cdots + z_s}{a_1 + a_2 + \cdots + a_s} \right).\end{aligned}$$

Thus, by (9) one has

$$\begin{aligned}&F \left(\frac{b_1 + b_2 + \cdots + b_s}{a_1 + a_2 + \cdots + a_s}, \frac{c_1 + c_2 + \cdots + c_s}{a_1 + a_2 + \cdots + a_s}, \dots, \frac{z_1 + z_2 + \cdots + z_s}{a_1 + a_2 + \cdots + a_s} \right) \leq \\ &\leq \frac{a_1^k}{(a_1 + a_2 + \cdots + a_s)^k} \cdot F \left(\frac{b_1}{a_1}, \frac{c_1}{a_1}, \dots, \frac{z_1}{a_1} \right) + \cdots + \\ &+ \frac{a_s^k}{(a_1 + a_2 + \cdots + a_s)^k} \cdot F \left(\frac{b_s}{a_s}, \frac{c_s}{a_s}, \dots, \frac{z_s}{a_s} \right).\end{aligned}$$

Since f is k -homogeneous, we get

$$\begin{aligned}&f(a_1 + a_2 + \cdots + a_s, b_1 + b_2 + \cdots + b_s, z_1 + z_2 + \cdots + z_s) = \\ &= (a_1 + a_2 + \cdots + a_s)^k f \left(1, \frac{b_1 + b_2 + \cdots + b_s}{a_1 + a_2 + \cdots + a_s}, \dots, \frac{z_1 + z_2 + \cdots + z_s}{a_1 + a_2 + \cdots + a_s} \right) = \\ &= (a_1 + a_2 + \cdots + a_s)^k F \left(\frac{b_1 + b_2 + \cdots + b_s}{a_1 + a_2 + \cdots + a_s}, \dots, \frac{z_1 + z_2 + \cdots + z_s}{a_1 + a_2 + \cdots + a_s} \right) \leq \\ &\leq a_1^k F \left(\frac{b_1}{a_1}, \frac{c_1}{a_1}, \dots, \frac{z_1}{a_1} \right) + \cdots + a_s^k F \left(\frac{b_s}{a_s}, \frac{c_s}{a_s}, \dots, \frac{z_s}{a_s} \right) = \\ &= f(a_1, b_1, \dots, z_1) + \cdots + f(a_s, b_s, \dots, z_s),\end{aligned}$$

and the proof of Theorem 2 is completed. ■

Corollary 3 *Inequality (7) holds true.*

Proof. Put $f(a_1, b_1, \dots, z_1) = \frac{a_1 b_1 \cdots z_1}{a_1 + b_1 + \cdots + z_1}$. It is immediate that f is $n - 1$ homogeneous. Since $F(t_1, \dots, t_{n-1}) = \frac{t_1 \cdots t_{n-1}}{1 + t_1 + \cdots + t_{n-1}}$, we have to show that F is $n - 1$ concave. But, as F is a continuous function, this is equivalent to the $n - 1$ -Jensen concavity of this function (see [1], [2]), i.e.

$$F\left(\frac{a+b}{2}\right) \geq \frac{F(a) + F(b)}{2^{n-1}}. \quad (10)$$

Let $a = (a_1, \dots, a_{n-1})$, $b = (b_1, \dots, b_{n-1})$. Then (10) is equivalent to

$$\frac{2(a_1 + b_1) \cdots (a_{n-1} + b_{n-1})}{2 + a_1 + b_1 + a_{n-1} + b_{n-1}} \geq \frac{a_1 \cdots a_{n-1}}{1 + a_1 + \cdots + a_{n-1}} + \frac{b_1 \cdots b_{n-1}}{1 + b_1 + \cdots + b_{n-1}} \quad (11)$$

Put $n - 1 = k$. For $k = 1$, the relation (11) follows by

$$H(a_1, 1) + H(b_1, 1) \leq H(a_1 + b_1, 2)$$

of Lehman's inequality (1).

Now, accepting (11) for $k \geq 1$, we can prove it also for $k + 1$ which is a simple exercise. So (11) follows by mathematical induction. Thus, inequality (7) follows as an application of Theorem 2. ■

References

- [1] W.W. Breckner, Stetigkeitsaussagen für eine Klasse verallgemeinerten konvexer Funktionen in topologischen linearen Räume, *Publ. Inst. Math.(Beograd)*, **23**(1978), 13–20.
- [2] J. Sándor, Generalizations of Lehman's inequality, *Soochow J. Math.*, **32**(2006), no. 2, 301–309.

Babeş-Bolyai University, Extension of M-Ciuc, Romania
E-mail address: jjssandor@hotmail.com
E-mail address: ogrogrogr@gmail.com